
SAP ABAP table TKEB {Management for Operating Concerns (Client-Specific)}

TKEB

MANDT [CLNT (3)]

ERKRS [CHAR (4)]

HITYP [CHAR (1)]

WAERS [CUKY (5)]

PERIV [CHAR (2)]

PERIV2 [CHAR (2)]

T000

MANDT [CLNT (3)] TKEB-MANDT = T000-MANDT 0..N

1

T009

MANDT [CLNT (3)]

PERIV [CHAR (2)]

 TKEB-PERIV = T009-PERIV 
0..N

1  TKEB-PERIV2 = T009-PERIV 0..N

1
TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 TKEB-WAERS = TCURC-WAERS 

0..N

1

THIT

MANDT [CLNT (3)]

HITYP [CHAR (1)]

 TKEB-HITYP = THIT-HITYP 

0..N

0..N


